
 

SỬA LỖI SAI 
 

Question 1: You mustn’t have seen Linda , for she has left for Australia for almost 

2 months. 
 

A. mustn’t have seen B. for C. for D. almost 
 

Question 2: It was the invention of the assembly line instead than the increase in the 

average pay of workers that allowed automobiles to be purchased by so many in the 

early years of the twentieth century. 
  

A. instead B. purchased C. so D. twentieth century 
 

 

Question 3: For thousands of years, man has created sweet–smelling substances from 

wood, herbs, and flowers and using them for perfume or medicine. 
 

A. man B. sweet–smelling C. using them D. or 
 

Question 4: John used to working in Leeds, but his company had him transfer to a 

better position in London. 
 

A. working B. but C. transfer D. better 
 

Question 5: All almost the electricity for industrial use comes from large generators 

driven by steam turbines. 
 

A. All almost B. industrial use C. from D. driven 
 

Question 6: This recipe, is an old family secret, is an especially important part of our 

holiday celebrations. 
 

A. is an B. especially C. part D. celebrations 
 

Question 7: Ernest Hemingway wrote The Old Man and the Sea, in addition to 

a number of the other work. 
 

A. wrote B. in addition C. other D. work 
 

Question 8: Don’t get angry with me for your failure. You are yourself to blame by it 

and it is nobody else’s fault. 
 

A. get angry B. yourself C. by D. else's fault 
 

Question 9: In my country we have to do nine core subjects and then we can choose 

several other. 
 

A. to do B. core C. and then D. other 
 

Question 10: The two coaches collided, but luckily no one was wounded. 
 

A. collided B. but C. luckily D. wounded 



Question 11: By itself, technology can be either good nor bad, depends on how people 

use it. 
 

A. By B. can be C. nor D. depends 
 

Question 12: Having watered the flowers in the rooms, she went on watering those 

in the kitchen. 
  

A. Having watered B. in the C. watering D. those  
 

Question 13: Several people have apparent tried to change the man’s mind, but he 

refuses to listen. 
 

A. Several B. apparent C. man's mind D. to listen 
 

Question 14: Lara is a very bright student who learns quickly and do all her course 

work very well. 
 

A. very bright B. who learns C. do all D. work 
 

Question 15: After being questioned for a few minutes, John finally admitted to steal 

his friend’s money. 
 

A. being B. admitted C. steal D. friend’s 
 

Question 16: TheQuestion master tells you three things, and you have to say 

which are the odd one out. 
 

A. tells B. and you  C. are D. out 

Question 17: Have I to tell them that you have come?  
          

A. Have I to B. them  C. that D. have come 
 

Question 18: Physical therapists help patients relearn how to use their bodies 

after disease or injure. 
 

A. relearn B. to use C. bodies D. injure 
 

Question 19: Many of the population in the rural areas is composed of manual labors. 
 

A. Many B. rural areas C. composed of D. labors 
 

Question 20: During the school year, I am not allowed to watch television when I have 

finished my homewok. 
 

A. During B. to watch C. when D. homework 
 

Question 21: We have postponed to tell anyone the news until after Christmas. 
 

A. have B. to tell C. the D. until after 
 

Question 22: It is generally believed that high level of carbon emissions lead to 

climate change. 



A. generally believed B. high level C. emissions D. 
 

to 
 

Question23: I was in disguise when I met them ; as the result, of course they 

didn’t recognise me. 
 

A. in disguise B. as the result C. of course D. recognise 
 

Question 24: I was discouraged to swim when I put my feet in the ice-cold water.  
 

A. to swim B. put C. in D. ice-cold 
 

Question 25: Killer whales tend to wander in family clusters that hunt,play and resting 

together. 
 

A. Killer whales B. to wander C. clusters D. resting 
 

Question 26: Prior to an extermination programe early in the last century, alive 

wolves roamed across nearly all of North America. 
 

A. Prior to B. early C. alive D. nearly 
 

Question 27: The remains of Homo erectus, an extinct species of early man, was 

first discovered on the island of Java by Dutch physician Eugene Debois. 
 

A. an B. early man C. species D. was 
 

Question 28: We should also take into account a fact that unemployment causes 

poverty. 
 

A. also B. a C. that D. causes 
 

Question 29: Whoever said this he must have been a liar because it is something that 

even a child knows to be true. 
 

A. he must B. something C. that D. be true 
 

Question 30: Your brother spoke in a more interesting way, even though he 

mentioned less details. 
 

A. in a more B. way C. even D. less 
 

Question 31: I’d like to see him in my office the moment he will arrive. 
 

A. to see B. in C. office D. will arrive 
 

Question 32: She wishes we didn't send her the candy yesterday because she's on a 

diet 
 

A. didn't send B. candy C. because D. on a 
 

Question 33: You needn’t give me any more advices because, from now on, I can 

cope with it on my own. 



A. needn't B. advices C. now on D. with it 
 

Question 34: Had I been interested in that subject, I would try to learn more about it. 
 

A. Had I B. in C. try to learn D. about 
 

Question 35: Tim is different from John in that the first is smart and the latter rather 

unintelligent. 
  

A. from B. the first C. and D. latter rather  
 

Question 36: Because the high risk of the fire during the drought, the officials ordered 

that no outside fire of any sort could be set. 
 

A. Because B. during C. ordered D. be set 
 

Question 37: A schedule of the day’s events can obtain at the front desk. 
 

A. A schedule B. day’s C. obtain D. the front desk 
 

Question 38: Medical research indicates that large amount of histamine can 

be responsible for colds, hay fever, and other respiratory reactions. 
 

A. amount B. can C. colds D. respiratory 
 

Question 39: A lot of ancient paintings and sculptures can be found in this museum 

but there are a few works of Hugo because he is relatively unknown in this country. 
 

A. ancient B. sculptures C. a few D. he is 
 

Question 40: Most of the guests turned up two hours early, that took us by surprise. 
 

A. of the B. up C. that D. by 
 

Question 41: When I got to the cinema Jack had been waiting for me. 
 

A. to B. the C. had been D. for 
 

Question 42: All applications ask for your address, telephone number and the title 

of the job for whom you are applying. 
 

A. ask for B. and C. the title D. for whom 
 

Question 43: Hardly had we arrived at the hotel, that there was a power cut. 
 

A. had we B. at C. that D. a 
 

Question 44: Not until the office phoned me had I found out about the meeting. 
 

A. Not B. phoned C. had I found D. about 
 

Question 45: I tried to convince him several times but I failed because he 

was unwilling to consider what I have said. 
 

A. him B. failed C. to consider D. have said 



Question 46: From the monitoring of earthquake waves it is evidence that the Earth’s 

outer core is liquid, whereas the inner core is solid. 
 

A. From B. earthquake C. evidence D. whereas 
 

Question 47: In nowadays, commercial breakeries use complex, automated machines, 

but the basic principles of baking have changed little for thousands of years. 
 

A. In nowadays B. of baking C. little D. for thousands  
 

Question 48: Philosopher Theodore A. Langerman was interested in the fields 

of literary and music. 
 

A. Philosopher B. interested C. literary D. music 
 

Question 49: Trung wishes that he can have a chance to visit Singapore. 
 

A. that B. can C. a chance D. visit 
 

Question 50: The manager told me you could give me an information about the new 

toys you will be selling in the new year. 
 

A. The manager B. an information C. new toys D. in the new year 
 

Question 51: Chocolate is prepared by a complexity process of cleaning, blending, and 

roasting cocoa beans, which must be ground and mixed with sugar. 
 

A. a complexity B. blending C. which D. mixed with 
 

Question 52: The destructive force of running water depends entirely almost on 

the velocity of its flow. 
 

A. destructive force B. running C. entirely almost D. of its flow 
 

Question 53: It was suggested that he thought twice before giving up the previous job. 
 

A. thought B. before C. giving up D. previous 
 

Question 54: Asparagus grows well in soil that is too much salty for most crops to 

grow. 
 

A. grows well B. in C. too much D. most crops 
 

Question 55: A beaver uses its strong front teeth to cut down trees and peel off 

its bark. 
 

A. its B. front teeth C. peel off D. its 
 

Question 56: The clerks who are happy to wait for their customers will get 

promoted soon. 
 

A. clerks B. wait for C. customers D. get promoted 


